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QUESTION 1

A Production operator in your company is required to report production activities, such as completing or 

scrapping production units, by referencing a work definition without creating work orders. 

Identify the manufacturing transaction that a production operator can perform for reporting such activities. 

A. Orderless Transactions 

B. Operation Transactions 

C. Resource Transactions 

D. Movement request 

E. Material Transactions 

Correct Answer: A 

 

QUESTION 2

A plant runs 24x7 daily using three continuous shifts of 8 hours each. One unit of an equipment resource R1 is assigned
to each of the three shifts. On a specific work order, the resource R1 is required to work for 2 hours. The resource is set
up with an efficiency of 50% and utilization of 100%. R1 is scheduled to start on the given work order at noon. What time
will R1 be scheduled to finish, assuming no calendar exceptions have been set? 

A. 8:00 PM 

B. 12:30 PM 

C. 2:00 PM 

D. 4:00 PM 

E. 1:00 PM 

Correct Answer: D 

 

 

QUESTION 3

Your customer has multiple distribution centers and a few manufacturing plants. Plants make different items with some
overlap between them in terms of products manufactured. The distribution centers stock parts from all plants. A
Corporate Engineering team is responsible for centrally defining items and catalogues. This team defines the items and
sets the attributes for most parameters. The respective distribution centers and manufacturing plants are allowed to
change some attributes locally. Identify two different ways of achieving this requirement. 

A. Set up Plants as Inventory Organizations, Distribution Centers as Item Organizations, and Corporate Engineering
organization as Inventory Organization. 

Latest 1Z0-1075-22 Dumps | 1Z0-1075-22 Practice Test | 1Z0-1075-22 Exam Questions                               2 / 4

https://www.leads4pass.com/1z0-1075-22.html
https://www.leads4pass.com/1z0-1075-22.html
https://www.leads4pass.com/1z0-1075-22.html


https://www.leads4pass.com/1z0-1075-22.html
2024 Latest leads4pass 1Z0-1075-22 PDF and VCE dumps Download

B. Set up Plants as Inventory Organizations, Distribution Centers as Inventory Organizations, and Corporate
Engineering organizations as Item Organization. 

C. Set up Plants and Distribution Centers as Inventory organizations and Corporate Engineering organization as Item
Organization 

D. Set up Plants and Distribution Centers as Inventory organizations and Corporate Engineering organization as
Inventory Organization. 

E. Set up Plants as Inventory Organizations, Distribution Centers as Item Organizations, and Corporate Engineering
organization as Item Organization. 

Correct Answer: BC 

 

 

QUESTION 4

During a Manufacturing Cloud implementation, the customer request to develop Oracle Transactional 

Business Intelligence reports that are not available out-of- the box. 

Identify the tool that is available to the Report Developer in Manufacturing Cloud to develop the reports. 

A. Oracle Business Intelligence Standard Edition 

B. Oracle Business Intelligence Publisher 

C. Oracle Business Intelligence Enterprise Edition 

D. Oracle Business Intelligence Application 

Correct Answer: B 

 

 

QUESTION 5

A Production Supervisor queries a Work Order (WO-1025) from the manage Work Orders page. On the 

Entering Edit Work Order: WO-1025 page, he finds General Information, Operations and History tab, but 

not the Reservations tab. 

Identify the two reasons that can cause the Reservations tab not to be displayed. 

A. Work Order (WO-1025) is not a Configured item Work Order. 

B. Work Order (WO-1025) is not a Back-to-Back Work Order. 

C. Work Order (WO-1025) is not a Drop-Ship Work Order. 

D. Work Order (WO-1025) is not a Pick-to-order Work Order. 
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E. Work Order (WO-1025) is not a Plan-to-produce Work Order. 

Correct Answer: AC 
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